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ELECTIVE COURSE : ECONOMICS 

EEC-10 : NATIONAL INCOME 
ACCOUNTING 

Time : 3 hours 	 Maximum Marks : 100 

(Weightage : 70%) 

Note : 	Attempt questions from each section as indicated. 

SECTION—A 
(Long Answer Questions) 

Answer any two questions from this section : 2x20=40 
1. Distinguish between market and non-market 

services. Describe how the contribution of services 
to GDP is measured in India. 

2. What do you understand by inflows of foreign 
capital ? Discuss various forms of such capital 
inflows. 

3. What is the importance of capital formation for a 
country ? Give the classification of capital goods. 
How is investment estimated in India ? 

4. What do you understand by environmental 
accounting ? What are its main objectives ? What 
are the main approaches to environmental 
accounting ? 
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SECTION - B 
(Medium Answer Questions) 

Answer any four questions from this section : 4x12=48 

5. How is gross value added of manufacturing sector 
estimated in India ? 

6. Why do we need to update the SNA system of 
accounts ? What are the various suggestions put 
forward to update SNA system ? 

7. In what way is economic welfare affected by (a) 
the size of GDP, (b) the composition of GDP, and 
(c) changes in the distribution of GDP ? 

8. What is the importance of services in economic 
development ? How is contribution of banking and 
insurance to national income estimated in India ? 

9. Explain the circular flow of economic activities. 

10. Illustrate the 'Five-account system' of national 
income accounting. What are its salient 
features ? 

SECTION - C 
(Short Answer Questions) 

11. Distinguish between any two of the following : 
(a) Subsidies and Transfer payments 	2x6=12 
(b) Stocks and Flows 
(c) Net capital Transfer from abroad and Net 

Borrowing from abroad. 
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